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Circle graphs compare dara as parts of a whole,

HOUSEHOLD BUDGET BASED UPON
A SALARY OF $30,000

This circle graph shows a [
houschold budeer based
: i 2%
upon a salary ot $30,000.
' Insurance

Find the largest wedge of »  What expense makes up the largest share of the budget?

the chart. L i i _
The largest portion is labeled “Rent.” It makes up 33% of

the total budget, This is the largest percentage listed.

The answer s rent.

—

Use the circle graph in Here’s How to answer each
question.

Add the two percentages.  # 1. Whar percentage of the budger is for savings and

entertainment?

To find 10%: of $30,000, B 2. According to the chart, how much money is set aside for
multiply $30,000 by 10%.
Write 10% as a decimal
(0,10,

savings?
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Use the equation
P06 % 530,000 = ___

TIP——

50% is half,

Name

7

Use the circle graph in Here’s How to answer each
quesHon.

8.

10,

What percentage of the budger is used for

transportation? .
How much money is spent on food?
What is the total percentage of the budger?

How much money 15 used for msurance and bills?

What four categories total exactly half the budger?

It insurance costs were reduced to 9% of the budger,
how much could the percentage for entertainment be

increased?

It transportation costs decreased to 3%, how much

could the percentage for savings be increased?

What percentage of the total budget s spent on rent

and food?

Which makes up more of the total budget: food and rent
oar jl'lﬁl.] rance, tra ﬁ?ipl]]‘ri.“’“ Lin i.'l.!'ld "I‘ii]"q:

If your rent mereased and you had ro increase the
percentage tor it by 5%, what caregonies would you
change to make the adjustment? Explain your answer.




